CARPATHIAN J. MATH. Volume **41** (2025), No. 1, Pages 237-251 Online version at https://www.carpathian.cunbm.utcluj.ro/ Print Edition: ISSN 1584 - 2851; Online Edition: ISSN 1843 - 4401 DOI: https://doi.org/10.37193/CJM.2025.01.16

Stability of new functional equations and partial multipliers in Banach *-algebras

Chengbo Zhai 1,2 and Jin Kang 1

ABSTRACT. This paper mainly studies new additive functional equations

$$f\left(\frac{x+y}{n_0}\right) = \frac{f(x)+f(y)}{n_0}$$
$$f\left(\frac{\lambda x+\lambda y}{n_0}\right) = \frac{f(\lambda x)+f(\lambda y)}{n_0}$$

where n_0 is a positive integer with $n_0 \neq 1$, and $\lambda > 0$ is a fixed constant. We prove the Hyers-Ulam stability for the above additive functional equations by using fixed point method in complex normed spaces. Further, we establish some new results about partial multipliers related to additive functional equations in complex Banach *-algebras.

1. INTRODUCTION

The stability problem of functional equations was initial proposed by mathematician S.M. Ulam [53] in 1940, and in [15] Hyers gave the first positive answer to the Ulam problem in Banach spaces. Since then, the conclusion obtained was generalized and summarized in many different ways. In [13, 40] Rassias and Gajda considered the stability problem with unbounded Cauchy difference, which is called Hyers-Ulam stability. By considering unbounded Cauchy difference, Aoki [2] extended Hyers theorem to additive mapping, and then Rassias [40] extended Hyers theorem to linear mapping. In [14], by means of Rassias method, Găvruta obtained the generalization of Rassias theorem by replacing unbounded Cauchy difference with general control function. In [29, 30] Park defined additive ρ -functional inequalities, and proved their Hyers-Ulam stability in Banach spaces and non Archimedean Banach spaces.

The stability of functional equations is a very active field and the method used in the proofs of subsequents is always Hyers' method, that is, starting from a given function, the approximate function is explicitly constructed by a fixed formula. This method is called the direct method and it was proved that, for the stability of functional equations, it is the most significant and strong tool. There are other known methods, for example, people studied the stability of functional equations by using the sandwich theorem (see [38]). Later, some authors observed that the approximate function and its estimated value can be obtained from the fixed point substitution (see [41]), and this method is applicable to more cases, and the general stability theorem can be obtained in a simple way. Isac and Rassias [16] first used the stability theory of functional equations to study a new fixed point theorem. Using a fixed point method, some authors studied the stability of several

Received: 15.01.2023. In revised form: 13.12.2023. Accepted: 31.03.2024

1991 Mathematics Subject Classification. 39B82, 39B72, 38B52.

Key words and phrases. *stability; partial multipliers; Banach *-algebras; fixed point method*. Corresponding author: Chengbo Zhai; cbzhai@sxu.edu.cn

functional equations. In [17], Jung discussed the following Jensen's functional equation

$$2f(\frac{x+y}{2}) = f(x) + f(y)$$

and established the Hyers-Ulam-Rassias stability. And then Jung [18] also considered the stability of the quadratic functional equation

$$f(x+y) + f(x-y) = 2f(x) + 2f(y).$$

Recently, in [49] the authors investigated the Hyers-Ulam stability of the general functional equation

$$f(x+y) + g(x-y) = h(x) + k(y)$$

on an unbounded restricted domain, which generalized some of the results in literature. For more fruits about the stability of such kind functional equations, we can see [19, 25, 26, 27, 28, 33, 42, 54]. For some miscellaneous functional equations, Hyers-Ulam stability problems were discussed by many authors in the spirit of Rassias approach, see for instance [1, 7, 8, 10, 36, 45, 51, 52] and other resources. In addition, many people have studied the Hyers–Ulam stability of some derivations in algebras and rings, see [3, 5, 22, 23, 35]. Further, more generalisations and variants on the stability problem have been widely studied by a large of authors in different directions, see [4, 9, 12, 31, 32, 34, 37, 48, 50, 51] for example. At the same time, there are also many researches on partial multipliers related to additive functional equations. In 2016, Taghavi [46] introduced partial multipliers into complex Banach algebras. In Banach spaces or Banach algebras, many authors have widely studied the stability and partial multipliers of various functional equations and functional inequalities (see [11, 20, 21, 24, 36, 39, 43, 44, 47]).

In this paper, we solve the Hyers-Ulam stability by using fixed point method for the following new additive functional equations

(1.1)
$$f\left(\frac{x+y}{n_0}\right) = \frac{f(x) + f(y)}{n_0}$$

(1.2)
$$f\left(\frac{\lambda x + \lambda y}{n_0}\right) = \frac{f(\lambda x) + f(\lambda y)}{n_0}$$

in complex normed spaces, where n_0 is a positive integer with $n_0 \neq 1$, and $\lambda > 0$ is a fixed constant. It can be used to study partial multipliers related to additive functional equations (1.1) and (1.2) in complex Banach *-algebras.

We review some basic lemmas and definitions.

Lemma 1.1 ([6]). Suppose that (X, d) is a complete generalized metric space and $J : X \to X$ is a strictly contractive mapping, with the Lipschitz constant *L*. Then, for each given element $x \in X$, either

 $d(J^n x, J^{n+1} x) = +\infty$, for all nonnegative integers n,

or there exists a natural number N such that

- 1. $d(J^n x, J^{n+1} x) < +\infty, \forall n \ge N;$
- 2. The sequence $\{J^n x\}$ convergents to a fixed point y^* of J;
- 3. y^* is the unique fixed point of J in the set $Y = \{y \in X, d(J^N x, y) < +\infty\};$
- 4. $d(y, y^*) \leq \frac{1}{1-L}d(y, Jy), \forall y \in Y.$

Definition 1.1 ([55]). We use the term "Banach algebra" to refer to a vector algebra in which the underlying vector space is a complex Banach space and in which the multiplication satisfies the condition $||xy|| \leq ||x|| ||y||$. A Banach algebra is called a Banach *-algebras if, for each element x, there exists a unique element x^* such that

1. $(x^*)^* = x;$

2.
$$(xy)^* = y^* x^*;$$

3. $(\alpha x + \beta y)^* = \bar{\alpha} x^* + \bar{\beta} y^*$, where α and β are complex numbers, $\bar{\alpha}$ and $\bar{\beta}$ are their complex conjugates;

4. $||xx^*|| = ||x||^2$.

Definition 1.2 ([46]). Let A be a complex Banach *-algebra. A C-linear mapping $P : A \rightarrow A$ is called a partial multiplier if P satisfies

$$P \circ P(xy) = P(x)P(y),$$
$$P(x^*) = P(x)^*$$

for all $x, y \in A$.

2. STABILITY OF THE ADDITIVE FUNCTIONAL EQUATION (1.1)

We prove the Hyers-Ulam stability of additive functional equation (1.1) by using the fixed point method in complex normed spaces.

Theorem 2.1. Let *E* be a complex normed space and *F* be a Banach space, and assume that the mapping $f: E \to F$ satisfies f(0) = 0 and the following inequality

(2.1)
$$\| n_0 f\left(\frac{x+y}{n_0}\right) - f(x) - f(y) \| \le \varphi(x,y), \forall x, y \in E,$$

where n_0 is a positive integer, $\varphi : E \times E \to [0, \infty)$ is a given function. Moreover, there exists $L \in (0, n_0)$ such that

$$\varphi(x,0) \le L \varphi\left(\frac{x}{n_0},0\right), \forall x \in E,$$

and the mapping φ also satisfies

(2.2)
$$\lim_{n \to \infty} \frac{\varphi(n_0^{n+1}x, n_0^{n+1}y)}{n_0^{n+1}} = 0, \forall x, y \in E.$$

Then there exists a unique additive mapping $c: E \to F$ such that

$$\parallel f(x) - c(x) \parallel \leq \frac{L}{n_0 - L}\varphi(x, 0), \forall x \in E.$$

Proof. Consider the set

$$X := \{g : E \to F, g(0) = 0\}$$

and introduce the generalized metric on X:

$$d(g,h) = \inf \left\{ \delta \in R_+ : \parallel g(x) - h(x) \parallel \leq \delta \varphi(x,0), \forall x \in E \right\},\$$

where, as usual, $\inf \emptyset = \infty$.

First, we prove that (X, d) is complete.

It is easy to see that *d* is symmetrical and d(f, f) = 0 for all $f \in X$. If d(g, h) = 0, then for every $x \in E$, we have $|| g(x) - h(x) || \le 0$, which implies g = h. Next, if $d(f, g) = a < \infty$ and $d(g, h) = b < \infty$, then $|| f(x) - g(x) || \le a\varphi(x, 0)$ and $|| g(x) - h(x) || \le b\varphi(x, 0)$ for all $x \in E$, thus $|| f(x) - h(x) || \le || f(x) - g(x) || + || g(x) - h(x) || \le a\varphi(x, 0) + b\varphi(x, 0) \le$ $(a + b)\varphi(x, 0)$ for all $x \in E$, which implies $d(f, h) \le d(f, g) + d(g, h)$.

Suppose that $\{f_n\} \subset X$ is a Cauchy sequence. For a fixed x and $\forall \varepsilon > 0$, there exists positive integer N so that when $n, m \ge N$, there is $d(f_n, f_m) < \varepsilon$, that is $|| f_n(x) - f_m(x) || \le \varepsilon \varphi(x, 0), n, m \ge N$. Hence $\{f_n(x)\}$ is a Cauchy sequence in F, then exists a mapping $f : E \to F$ with f(0) = 0, such that $\{f_n(x)\}$ converges to f(x). Let $m \to \infty$ in $|| f_n(x) - f_m(x)| \le \varepsilon \varphi(x, 0)$ and we get $|| f_n(x) - f(x)|| \le \varepsilon \varphi(x, 0)$. It can be seen that $\{f_n(x)\}$ uniformly converges to f(x), so $f \in X$ and f_n converges to f.

240

Second, we consider the linear mapping

$$J: X \to X, Jg(x) = \frac{1}{n_0}g(n_0 x), \forall x \in E.$$

Letting $d(q,h) = \omega$ for all $q,h \in X$, we have

$$\parallel g(x) - h(x) \parallel \le \omega \varphi(x, 0), \forall x \in E.$$

Therefore,

$$\parallel \frac{1}{n_0} g(n_0 \, x) - \frac{1}{n_0} h(n_0 \, x) \parallel \leq \frac{1}{n_0} \, \omega \varphi(n_0 \, x, 0) \leq \frac{L}{n_0} \omega \varphi(x, 0), \forall x \in E, x \in \mathbb{R}$$

that is

$$d(Jg, Jh) \le \frac{L}{n_0} d(g, h), \forall g, h \in X.$$

Letting $x = n_0 t$ and y = 0 in (2.1), we obtain

$$\parallel n_0 f(t) - f(n_0 t) \parallel \leq \varphi(n_0 t, 0) \leq L \varphi(t, 0), \forall t \in E,$$

and thus

$$|| f(x) - \frac{1}{n_0} f(n_0 x) || \le \frac{1}{n_0} \varphi(n_0 x, 0) \le \frac{L}{n_0} \varphi(x, 0), \forall x \in E,$$

so $d(f, Jf) \leq \frac{L}{n_0} < 1$. According to Lemma 1.1, there exists a mapping $c: X \to X$ such that

1. *c* is a fixed point of *J*, that is

(2.3)
$$Jc(x) = c(x) = \frac{1}{n_0}c(n_0 x), \forall x \in E.$$

The mapping c is a unique fixed point of J in the set

 $Y = \{q \in X, d(f, q) < \infty\}.$

This shows that *c* is a unique mapping satisfying (2.3) and there is $\delta \in (0, \infty)$, such that

$$\parallel f(x) - c(x) \parallel \le \delta \varphi(x, 0), \forall x \in E.$$

2. $d(J^n f, c) \to 0, n \to \infty$, which implies the equality

$$\lim_{n \to \infty} \frac{f(n_0^n x)}{n_0^n} = c(x), \forall x \in E.$$

3. $d(f,c) \leq \frac{n_0}{n_0-L}d(f,Jf)$, which implies the inequality

$$\parallel f(x) - c(x) \parallel \le \frac{L}{n_0 - L}\varphi(x, 0), \forall x \in E.$$

Finally, we prove that c is additive.

Letting $x = n_0^{n+1} u$ and $y = n_0^{n+1} v$ in (2.1), we get

$$\parallel \frac{f(n_0^n u + n_0^n v)}{n_0^n} - \frac{f(n_0^{n+1} u)}{n_0^{n+1}} - \frac{f(n_0^{n+1} v)}{n_0^{n+1}} \parallel \leq \frac{\varphi(n_0^{n+1} u, n_0^{n+1} v)}{n_0^{n+1}}, \forall u, v \in E,$$

taking into consideration (2.2) and letting $n \to \infty$, we obtain

$$c(u+v) = c(u) + c(v), \forall u, v \in E.$$

Consequently, the mapping $c : E \to F$ is additive. The proof is completed.

Corollary 2.1. Let *E* be a complex normed space and *F* be a Banach space, $0 and <math>\theta$ be nonnegative real numbers, and suppose that the mapping $f : E \to F$ satisfies f(0) = 0 and the following inequality

(2.4)
$$|| n_0 f\left(\frac{x+y}{n_0}\right) - f(x) - f(y) || \le \theta(|| x ||^p + || y ||^p), \forall x, y \in E,$$

where n_0 is a positive integer. Then there exists a unique additive mapping $c: E \to F$ such that

$$|| f(x) - c(x) || \le \frac{n_0^p \theta}{n_0 - n_0^p} || x ||^p, \forall x \in E.$$

Proof. For $x, y \in E$, letting $L = n_0^p$ and $\varphi(x, y) = \theta(||x||^p + ||y||^p)$ in Theorem 2.1, we get

$$\varphi(x,0) = \theta \parallel x \parallel^{p}, \varphi\left(\frac{x}{n_{0}}, 0\right) = \frac{\theta}{n_{0}^{p}} \parallel x \parallel^{p}.$$

Since $\theta \parallel x \parallel^p = \frac{n_0^p \theta}{n_0^p} \parallel x \parallel^p$, we have

$$\varphi(x,0) \le L \varphi\left(\frac{x}{n_0},0\right), \forall x \in E.$$

Meanwhile,

$$\lim_{n \to \infty} \frac{\varphi(n_0^{n+1} x, n_0^{n+1} y)}{n_0^{n+1}} = \lim_{n \to \infty} n_0^{(n+1)(p-1)} \theta(\|x\|^p + \|y\|^p) = 0, \forall x, y \in E.$$

So the conclusion is established.

Theorem 2.2. Let *E* be a complex normed space and *F* be a Banach space, and assume that the mapping $f : E \to F$ satisfies f(0) = 0 and (2.1), where n_0 is a positive integer, $\varphi : E \times E \to [0, \infty)$ is a given function. Moreover, there exists $L \in (0, \frac{1}{n_0})$ such that

$$\varphi(x,0) \le L\varphi(n_0\,x,0), \forall x \in E,$$

and the mapping φ also satisfies

$$\lim_{n \to \infty} \frac{\varphi(n_0^{1-n} x, n_0^{1-n} y)}{n_0^{1-n}} = 0, \forall x, y \in E.$$

Then there exists a unique additive mapping $c : E \to F$ *such that*

$$\parallel f(x) - c(x) \parallel \leq \frac{1}{1 - n_0 L} \varphi(x, 0), \forall x \in E.$$

Proof. Let (X, d) be the generalized metric space defined in the proof of Theorem 2.1. Now we consider the mapping

$$J: X \to X, Jg(x) = n_0 g\left(\frac{1}{n_0}x\right), \forall x \in E.$$

By letting y = 0 in (2.1), we get

$$\parallel n_0 f\left(\frac{1}{n_0}x\right) - f(x) \parallel \leq \varphi(x,0) \leq L\varphi(n_0 x,0), \forall x \in E,$$

hence $d(f, Jf) \leq 1$.

The remaining proof is similar to the proof of Theorem 2.1.

Corollary 2.2. Let *E* be a complex normed space and *F* be a Banach space, p > 1 and θ be nonnegative real numbers, and suppose that the mapping $f : E \to F$ satisfies f(0) = 0 and (2.4), where n_0 is a positive integer. Then there exists a unique additive mapping $c : E \to F$ such that

$$|| f(x) - c(x) || \le \frac{n_0^p \theta}{n_0^p - n_0} || x ||^p, \forall x \in E.$$

Proof. For $\forall x, y \in E$, letting $L = n_0^{-p}$ and $\varphi(x, y) = \theta(||x||^p + ||y||^p)$ in Theorem 2.2, and the rest of the proof is similar to Corollary 2.1.

Corollary 2.3 ([6], Theorem 3.1). Let *E* be a (real or complex) linear space and *F* be a Banach space, and $q_i = \begin{cases} 2, i = 0 \\ \frac{1}{2}, i = 1 \end{cases}$. Suppose that the mapping $f : E \to F$ satisfies the condition f(0) = 0 and an inequality of the form

$$\parallel 2f\left(\frac{x+y}{2}\right) - f(x) - f(y) \parallel \leq \varphi(x,y), \forall x, y \in E,$$

where $\varphi: E \times E \to [0,\infty)$ is a given function.

If there exists L = L(i) < 1 such that the mapping

$$x \to \psi(x) = \varphi(x, 0)$$

has the property

$$\psi(x) \leq L \cdot q_i \cdot \psi\left(\frac{x}{q_i}\right), \forall x \in E,$$

and the mapping φ has the property

$$\lim_{n \to \infty} \frac{\varphi(2 q_i^n x, 2 q_i^n y)}{2 q_i^n} = 0, \forall x, y \in E,$$

then there exists a unique additive mapping $j: E \to F$ such that

$$\mid f(x) - j(x) \parallel \leq \frac{L^{1-i}}{1-L}\psi(x), \forall x \in E.$$

Proof. For $\forall x, y \in E$, take $n_0 = 2$ in Theorem 2.1 and Theorem 2.2, the conclusion holds immediately.

3. STABILITY OF THE ADDITIVE FUNCTIONAL EQUATION (1.2)

We prove the Hyers-Ulam stability of additive functional equation (1.2) by using the fixed point method in complex normed spaces.

Theorem 3.3. Let *E* be a complex normed space and *F* be a Banach space, and assume that the mapping $f : E \to F$ satisfies f(0) = 0 and the following inequality

(3.1)
$$\| n_0 f\left(\frac{\lambda x + \lambda y}{n_0}\right) - f(\lambda x) - f(\lambda y) \| \le \varphi(\lambda x, \lambda y), \forall x, y \in E,$$

where n_0 is a positive integer, $\lambda > 0$ is a fixed constant ,and $\varphi : E \times E \rightarrow [0, \infty)$ is a given function. Moreover, there exists $L \in (0, n_0)$ such that

$$\varphi(\lambda x, 0) \le L \varphi\left(\frac{\lambda x}{n_0}, 0\right), \forall x \in E$$

and the mapping φ also satisfies

(3.2)
$$\lim_{n \to \infty} \frac{\varphi(n_0^{n+1}\lambda x, n_0^{n+1}\lambda y)}{n_0^{n+1}} = 0, \forall x, y \in E.$$

Then there exists a unique additive mapping $c: E \to F$ such that

$$\parallel f(\lambda x) - c(\lambda x) \parallel \leq \frac{L}{n_0 - L} \varphi(\lambda x, 0), \forall x \in E.$$

Proof. Consider the set

$$X := \{g : E \to F, g(0) = 0\}$$

and introduce the generalized metric on X:

$$d(g,h) = \inf \left\{ \delta \in R_+ : \parallel g(\lambda x) - h(\lambda x) \parallel \leq \delta \varphi(\lambda x, 0), \forall x \in E \right\},\$$

where, as usual, $\inf \emptyset = \infty$. According to the proof of Theorem 2.1, it is easy to know that (X, d) is complete.

Now we consider the linear mapping

$$J: X \to X, Jg(\lambda x) = \frac{1}{n_0}g(n_0\,\lambda x), \forall x \in E.$$

Letting $d(g,h) = \omega$ for all $g,h \in X$, we have

$$\parallel g(\lambda x) - h(\lambda x) \parallel \leq \omega \varphi(\lambda x, 0), \forall x \in E.$$

Therefore,

$$\parallel \frac{1}{n_0}g(n_0\,\lambda x) - \frac{1}{n_0}h(n_0\,\lambda x) \parallel \leq \frac{1}{n_0}\omega\varphi(n_0\,\lambda x, 0) \leq \frac{L}{n_0}\omega\varphi(\lambda x, 0), \forall x \in E,$$

that is

$$d(Jg, Jh) \le \frac{L}{n_0} d(g, h), \forall g, h \in X.$$

Letting $x = n_0 t$ and y = 0 in (3.1), we obtain

$$|| n_0 f(\lambda t) - f(n_0 \lambda t) || \le \varphi(n_0 \lambda t, 0) \le L\varphi(\lambda t, 0), \forall t \in E,$$

thus

$$\parallel f(\lambda x) - \frac{1}{n_0} f(n_0 \lambda x) \parallel \leq \frac{1}{n_0} \varphi(n_0 \lambda x, 0) \leq \frac{L}{n_0} \varphi(\lambda x, 0), \forall x \in E,$$

so $d(f, Jf) \leq \frac{L}{n_0} < 1$.

According to Lemma 1.1, there exists a mapping $c : X \to X$ such that 1. *c* is a fixed point of *J*, that is

(3.3)
$$Jc(\lambda x) = c(\lambda x) = \frac{1}{n_0}c(n_0\,\lambda x), \forall x \in E.$$

The mapping c is a unique fixed point of J in the set

$$Y = \left\{g \in X, d(f,g) < \infty\right\}.$$

This shows that *c* is a unique mapping satisfying (3.3) and there is $\delta \in (0, \infty)$, such that

$$| f(\lambda x) - c(\lambda x) || \le \delta \varphi(\lambda x, 0), \forall x \in E.$$

2. $d(J^n f, c) \to 0, n \to \infty$, which implies the equality

$$\lim_{n \to \infty} \frac{f(n_0^n \lambda x)}{n_0^n} = c(\lambda x), \forall x \in E.$$

3. $d(f,c) \leq \frac{n_0}{n_0-L}d(f,Jf)$, which implies the inequality

$$\parallel f(\lambda x) - c(\lambda x) \parallel \leq \frac{L}{n_0 - L} \varphi(\lambda x, 0), \forall x \in E.$$

Finally, we prove that *c* is additive.

Chengbo Zhai, Jin Kang

Letting $x = n_0^{n+1} u$ and $y = n_0^{n+1} v$ in (2.1), we get

$$\|\frac{f(n_0^n \lambda u + n_0^n \lambda v)}{n_0^n} - \frac{f(n_0^{n+1} \lambda u)}{n_0^{n+1}} - \frac{f(n_0^{n+1} \lambda v)}{n_0^{n+1}} \| \le \frac{\varphi(n_0^{n+1} \lambda u, n_0^{n+1} \lambda v)}{n_0^{n+1}}, \forall u, v \in E,$$

taking into consideration (3.2) and letting $n \to \infty$, we obtain

$$c(\lambda u + \lambda v) = c(\lambda u) + c(\lambda v), \forall u, v \in E.$$

Consequently, the mapping $c : E \to F$ is additive. The proof is completed.

Corollary 3.4. Let *E* be a complex normed space and *F* be a Banach space, $0 and <math>\theta$ be nonnegative real numbers, and suppose that the mapping $f : E \to F$ satisfies f(0) = 0 and the following inequality

(3.4)
$$\| n_0 f\left(\frac{\lambda x + \lambda y}{n_0}\right) - f(\lambda x) - f(\lambda y) \| \le \theta \lambda^p (\| x \|^p + \| y \|^p), \forall x, y \in E,$$

where n_0 is a positive integer, $\lambda > 0$ is a fixed constant. Then there exists a unique additive mapping $c: E \to F$ such that

$$|f(x) - c(x)| \leq \frac{n_0^p \lambda^p \theta}{n_0 - n_0^p} ||x||^p, \forall x \in E.$$

Proof. For $\forall x, y \in E$, letting $L = n_0^p$ and $\varphi(\lambda x, \lambda y) = \theta \lambda^p(||x||^p + ||y||^p)$ in Theorem 3.3, and the rest of the proof is similar to Corollary 2.1.

Theorem 3.4. Let *E* be a complex normed space and *F* be a Banach space, and assume that the mapping $f : E \to F$ satisfies f(0) = 0 and (3.1), where n_0 is a positive integer, $\lambda > 0$ is a fixed constant, and $\varphi : E \times E \to [0, \infty)$ is a given function. Moreover, there exists $L \in (0, \frac{1}{n_0})$ such that

$$\varphi(\lambda x, 0) \le L\varphi(n_0\,\lambda x, 0), \forall x \in E,$$

and the mapping φ satisfies

$$\lim_{n \to \infty} \frac{\varphi(n_0^{1-n} \lambda x, n_0^{1-n} \lambda y)}{n_0^{1-n}} = 0, \forall x, y \in E.$$

Then there exists a unique additive mapping $c: E \to F$ such that

$$\parallel f(\lambda x) - c(\lambda x) \parallel \leq \frac{1}{1 - n_0 L} \varphi(\lambda x, 0), \forall x \in E.$$

Proof. Let (X, d) be the generalized metric space defined in the proof of Theorem 3.3. Now we consider the mapping

$$J: X \to X, Jg(\lambda x) = n_0 g\left(\frac{1}{n_0}\lambda x\right), \forall x \in E.$$

By letting y = 0 in (3.1), we get

$$\| n_0 f\left(\frac{1}{n_0}\lambda x\right) - f(\lambda x) \| \le \varphi(\lambda x, 0) \le L\varphi(n_0 \lambda x, 0), \forall x \in E,$$

hence $d(f, Jf) \leq 1$.

The remaining proof is similar to the proof of Theorem 3.3.

Corollary 3.5. Let E be a complex normed space and F be a Banach space, p > 1 and θ be nonnegative real numbers, and suppose that the mapping $f : E \to F$ satisfies f(0) = 0 and

 \square

(3.4), where n_0 is a positive integer, $\lambda > 0$ is a fixed constant. Then there exists a unique additive mapping $c : E \to F$ such that

$$\parallel f(x) - c(x) \parallel \leq \frac{n_0^p \lambda^p \theta}{n_0^p - n_0} \parallel x \parallel^p, \forall x \in E.$$

Proof. For $\forall x, y \in E$, letting $L = n_0^{-p}$ and $\varphi(\lambda x, \lambda y) = \theta \lambda^p(||x||^p + ||y||^p)$ in Theorem 3.4, the rest of the proof is similar to Corollary 2.1.

4. PARTIAL MULTIPLIERS RELATED TO ADDITIVE FUNCTIONAL EQUATION (1.1)

In this section, we will study partial multipliers related to additive functional equation (1.1) in complex Banach *-algebra.

Theorem 4.5. Let G be a complex Banach *-algebra, and assume that the mapping $f : G \to G$ satisfies f(0) = 0 and the following inequality

(4.1)
$$\| n_0 f\left(\frac{x+y}{n_0}\right) - f(x) - f(y) \| \le \varphi(x,y), \forall x, y \in G,$$

where n_0 is a positive integer, $\varphi : G \times G \rightarrow [0, \infty)$ is a given function. Moreover, there exists $L \in (0, n_0)$ such that

(4.2)
$$\varphi(x,y) \le L\varphi\left(\frac{x}{n_0},\frac{y}{n_0}\right), \forall x \in G,$$

and the mapping φ also satisfies

$$\lim_{n \to \infty} \frac{\varphi(n_0^{n+1} x, n_0^{n+1} y)}{n_0^{n+1}} = 0, \forall x, y \in G.$$

Then there exists a unique additive mapping $d: G \to G$ such that

(4.3)
$$\| f(x) - d(x) \| \le \frac{L}{n_0 - L} \varphi(x, 0), \forall x \in G.$$

In addition, if the mapping $f: G \to G$ satisfies $f(n_0 x) = n_0 f(x)$ and

(4.4)
$$\| f \circ f(xy) - f(x)f(y) \| \leq \varphi(x,y), \forall x, y \in G,$$

(4.5)
$$|| f(x^*) - f(x)^* || \le \varphi(x,0), \forall x \in G,$$

then the mapping *f* is a partial multiplier.

Proof. According to Theorem 2.1, there exists a unique additive mapping $d : X \to X$ such that (4.3) is established and

$$d(x) := \lim_{n \to \infty} \frac{1}{n_0^n} f(n_0^n x), \forall x \in G.$$

If $f(n_0 x) = n_0 f(x)$, then

$$d(x) := \lim_{n \to \infty} \frac{1}{n_0^n} f(n_0^n x) = \lim_{n \to \infty} \frac{1}{n_0^{n-1}} f(n_0^{n-1} x) = \lim_{n \to \infty} \frac{1}{n_0} f(n_0 x) = f(x), \forall x \in G.$$

On the basis of (4.2) and (4.4), we get

$$\begin{split} \| f \circ f(xy) - f(x)f(y) \| &= \| d \circ d(xy) - d(x)d(y) \| \\ &= \lim_{n \to \infty} \frac{1}{n_0^{2n}} \| f \circ f(n_0^n x \cdot n_0^n y) - f(n_0^n x)f(n_0^n y) \| \\ &\leq \lim_{n \to \infty} \frac{1}{n_0^{2n}} \varphi(n_0^n x, n_0^n y) \\ &\leq \lim_{n \to \infty} \frac{L^n}{n_0^{2n}} \varphi(x, y) = 0, \forall x, y \in G. \end{split}$$

Therefore,

$$f \circ f(xy) = f(x)f(y), \forall x, y \in G.$$

On the basis of (4.2) and (4.5), we get

$$\| f(x^*) - f(x)^* \| = \| d(x^*) - d(x)^* \|$$

$$= \lim_{n \to \infty} \frac{1}{n_0^n} \| f(n_0^n x^*) - f(n_0^n x)^* \|$$

$$\le \lim_{n \to \infty} \frac{1}{n_0^n} \varphi(n_0^n x, 0)$$

$$\le \lim_{n \to \infty} \frac{L^n}{n_0^n} \varphi(x, 0) = 0, \forall x, y \in G.$$

Therefore,

$$f(x^*) = f(x)^*, \forall x, y \in G$$

Thus, the mapping $f : G \to G$ is a partial multiplier.

Corollary 4.6. Let G be a complex Banach *-algebra, $0 and <math>\theta$ be nonnegative real numbers, and suppose that the mapping $f : E \to F$ satisfies f(0) = 0 and the following inequality

(4.6)
$$|| n_0 f\left(\frac{x+y}{n_0}\right) - f(x) - f(y) || \le \theta(|| x ||^p + || y ||^p), \forall x, y \in G,$$

where n_0 is a positive integer. Then there exists a unique additive mapping $d: G \to G$ such that

$$\| f(x) - d(x) \| \le \frac{n_0^p \theta}{n_0 - n_0^p} \| x \|^p, \forall x \in G.$$

In addition, if the mapping $f: G \to G$ satisfies $f(n_0 x) = n_0 f(x)$ and

(4.7)
$$\| f \circ f(xy) - f(x)f(y) \| \le \theta(\| x \|^p + \| y \|^p), \forall x, y \in G,$$

(4.8)
$$\| f(x)^* - f(x^*) \| \le \theta \| x \|^p, \forall x \in G,$$

then the mapping *f* is a partial multiplier.

Proof. For $x, y \in G$, letting $L = n_0^p$ and $\varphi(x, y) = \theta(||x||^p + ||y||^p)$ in Theorem 4.5, we get

$$\varphi\left(\frac{x}{n_0}, \frac{y}{n_0}\right) = \frac{\theta}{n_0^p} (\parallel x \parallel^p + \parallel y \parallel^p).$$

Since $\theta \parallel x \parallel^p = \frac{n_0^p \theta}{n_0^p} \parallel x \parallel^p$, we have

$$\varphi(x,y) \le L\varphi\left(\frac{x}{n_0},\frac{y}{n_0}\right), \forall x \in G.$$

Meanwhile,

$$\| f \circ f(xy) - f(x)f(y) \| \leq \lim_{n \to \infty} \frac{L^{2n}}{n_0^n} \varphi(x, y)$$

= $n_0^{(p-2)n} \theta(\|x\|^p + \|y\|^p) = 0, \forall x, y \in G,$
 $\| f(x^*) - f(x)^* \| \leq \lim_{n \to \infty} \frac{L^n}{n_0^n} \varphi(x, 0)$
= $\lim_{n \to \infty} n_0^{(p-1)n} \theta \|x\|^p = 0, \forall x \in G.$

Namely,

$$f \circ f(xy) = f(x)f(y), f(x^*) = f(x)^*, \forall x, y \in G.$$

So the conclusion is established.

Theorem 4.6. Let G be a complex Banach *-algebra, and assume that the mapping $f : G \to G$ satisfies f(0) = 0 and (4.1), where n_0 is a positive integer, $\varphi : G \times G \to [0, \infty)$ is a given function. Moreover, there exists $L \in (0, \frac{1}{n_0})$ such that

$$\varphi(x,0) \le L\varphi(n_0 x,0), \forall x \in G,$$

and the mapping φ also satisfies

$$\lim_{n \to \infty} \frac{\varphi(n_0^{1-n} x, n_0^{1-n} y)}{n_0^{1-n}} = 0, \forall x, y \in G.$$

Then there exists a unique additive mapping $d: G \to G$ such that

$$\parallel f(x) - d(x) \parallel \leq \frac{1}{1 - n_0 L} \varphi(x, 0), \forall x \in G.$$

In addition, if the mapping $f : G \to G$ satisfies $f(n_0 x) = n_0 f(x)$, (4.4) and (4.5), then the mapping f is a partial multiplier.

Proof. The proof is similar to the proof of Theorem 4.5.

Corollary 4.7. Let G be a complex Banach *-algebra, p > 1 and θ be nonnegative real numbers, and suppose that the mapping $f : E \to F$ satisfies f(0) = 0 and (4.6), where n_0 is a positive integer. Then there exists a unique additive mapping $d : G \to G$ such that

$$|| f(x) - d(x) || \le \frac{n_0^p \theta}{n_0^p - n_0} || x ||^p, \forall x \in G.$$

In addition, if the mapping $f : G \to G$ satisfies $f(n_0 x) = n_0 f(x)$, (4.7) and (4.8), then the mapping f is a partial multiplier.

Proof. For $\forall x, y \in G$, letting $L = n_0^{-p}$ and $\varphi(x, y) = \theta(||x||^p + ||y||^p)$ in Theorem 4.6, and the rest of the proof is similar to Corollary 4.6.

5. PARTIAL MULTIPLIERS RELATED TO ADDITIVE FUNCTIONAL EQUATION (1.2)

In this section, we will study partial multipliers related to additive functional equation (1.2) in complex Banach *-algebra.

Theorem 5.7. Let G be a complex Banach *-algebra, and assume that the mapping $f : G \to G$ satisfies f(0) = 0 and the following inequality

(5.1)
$$\| n_0 f\left(\frac{\lambda x + \lambda y}{n_0}\right) - f(\lambda x) - f(\lambda y) \| \le \varphi(\lambda x, \lambda y), \forall x, y \in G,$$

 \square

 \square

where n_0 is a positive integer, $\lambda > 0$ is a fixed constant, and $\varphi : G \times G \rightarrow [0, \infty)$ is a given function. Moreover, there exists $L \in (0, n_0)$ such that

$$\varphi(\lambda x, \lambda y) \leq L\varphi\left(\frac{\lambda x}{n_0}, \frac{\lambda y}{n_0}\right), \forall x \in G,$$

and the mapping φ also satisfies

$$\lim_{n \to \infty} \frac{\varphi(n_0^{n+1} \lambda x, n_0^{n+1} \lambda y)}{n_0^{n+1}} = 0, \forall x, y \in G.$$

Then there exists a unique additive mapping $d: G \to G$ such that

$$\parallel f(\lambda x) - d(\lambda x) \parallel \leq \frac{L}{n_0 - L} \varphi(\lambda x, 0), \forall x \in G.$$

In addition, if the mapping $f: G \to G$ satisfies $f(n_0 \lambda x) = n_0 f(\lambda x)$ and

(5.2)
$$\| f \circ f(\lambda^2 xy) - f(\lambda x)f(\lambda y) \| \le \varphi(\lambda x, \lambda y), \forall x, y \in G,$$

(5.3)
$$\| f(\lambda x^*) - f(\lambda x)^* \| \le \varphi(\lambda x, 0), \forall x \in G,$$

then the mapping *f* is a partial multiplier.

Proof. The proof is similar to the proof of Theorem 4.5.

Corollary 5.8. Let G be a complex Banach *-algebra, $0 and <math>\theta$ be nonnegative real numbers, and suppose that the mapping $f : E \to F$ satisfies f(0) = 0 and the following inequality

(5.4)
$$\| n_0 f\left(\frac{\lambda x + \lambda y}{n_0}\right) - f(\lambda x) - f(\lambda y) \| \le \theta \lambda^p (\| x \|^p + \| y \|^p), \forall x, y \in G,$$

where n_0 is a positive integer and $\lambda > 0$ is a fixed constant. Then there exists a unique additive mapping $d: G \to G$ such that

$$\mid f(x) - d(x) \parallel \leq \frac{n_0^p \lambda^p \theta}{n_0 - n_0^p} \parallel x \parallel^p, \forall x \in G.$$

In addition, if the mapping $f: G \to G$ satisfies $f(n_0 \lambda x) = n_0 f(\lambda x)$ and

(5.5)
$$\| f \circ f(\lambda^2 xy) - f(\lambda x)f(\lambda y) \| \le \theta \lambda^p (\| x \|^p + \| y \|^p), \forall x, y \in G,$$

(5.6)
$$\| f(\lambda x^*) - f(\lambda x)^* \| \le \theta \lambda^p \| x \|^p, \forall x \in G,$$

then the mapping *f* is a partial multiplier.

Proof. For $\forall x, y \in G$, letting $L = n_0^p$ and $\varphi(\lambda x, \lambda y) = \theta \lambda^p(||x||^p + ||y||^p)$ in Theorem 5.7, the rest of the proof is similar to Corollary 4.6.

Theorem 5.8. Let G be a complex Banach *-algebra, and assume that the mapping $f : G \to G$ satisfies f(0) = 0 and (5.1), where n_0 is a positive integer, $\lambda > 0$ is a fixed constant, and $\varphi : G \times G \to [0, \infty)$ is a given function. Moreover, there exists $L \in (0, \frac{1}{n_0})$ such that

$$\varphi(\lambda x, \lambda y) \le L\varphi(n_0 \,\lambda x, n_0 \,\lambda y), \forall x \in G,$$

and the mapping φ also satisfies

$$\lim_{n \to \infty} \frac{\varphi(n_0^{1-n} \lambda x, n_0^{1-n} \lambda y)}{n_0^{1-n}} = 0, \forall x, y \in G.$$

Then there exists a unique additive mapping $d: G \to G$ such that

$$| f(\lambda x) - d(\lambda x) || \le \frac{1}{1 - n_0 L} \varphi(\lambda x, 0), \forall x \in G.$$

Π

In addition, if the mapping $f : G \to G$ satisfies $f(n_0 \lambda x) = n_0 f(\lambda x)$, (5.2) and (5.3), then the mapping f is a partial multiplier.

Proof. The proof is similar to the proof of Theorem 4.5.

Corollary 5.9. Let G be a complex Banach *-algebra, p > 1 and θ be nonnegative real numbers, and suppose that the mapping $f : E \to F$ satisfies f(0) = 0 and (5.4), where n_0 is a positive integer and $\lambda > 0$ is a fixed constant. Then there exists a unique additive mapping $d : G \to G$ such that

$$\parallel f(x) - d(x) \parallel \leq \frac{n_0^p \lambda^p \theta}{n_0^p - n_0} \parallel x \parallel^p, \forall x \in G.$$

In addition, if the mapping $f : G \to G$ satisfies $f(n_0 \lambda x) = n_0 f(\lambda x)$, (5.5) and (5.6), then the mapping f is a partial multiplier.

Proof. For $\forall x, y \in G$, letting $L = n_0^{-p}$ and $\varphi(\lambda x, \lambda y) = \theta \lambda^p(||x||^p + ||y||^p)$ in Theorem 5.8, the rest of the proof is similar to Corollary 4.6.

Remark 5.1. From literature, we know that equations (1.1),(1.2) are new forms and the relative results have not been seen. When $n_0 = 2$, the results are also new. In [13], the author used the Hyers' method to study the stability of additive functional equation f(x + y) = f(x) + f(y). In [17], the author established Hyers-Ulam-Rassias stability for the Jensen functional equation, and the result is applied to the study of an asymptotic behavior of the additive mapping $f(\frac{x+y}{2}) = \frac{1}{2}f(x) + \frac{1}{2}f(y)$, and in [6] the authors studied the same problem by using fixed point theorems. Evidently, our results are some generalizations of ones in [6, 17]. By the same method, the paper [39] studied a system of additive functional equations

$$2f(x+y) - g(x) = g(y), g(x+y) - 2f(x-y) = 4f(x).$$

We can see that our technique is working in more situations, allowing to get, in a simple manner, general stability theorems.

6. CONCLUSIONS

In this manuscript, we studied functional equations (1.1),(1.2). We used fixed point method to give some new results of the Hyers-Ulam stability and we establish some new results about partial multipliers related to additive functional equations in complex Banach *-algebras. Evidently, our results include the special case $n_0 = 2$ and it is also new. It should be pointed out that the ideas from our proofs can be applied to some similar generalizations of functional equations.

ACKNOWLEDGMENTS

This paper was supported by the Shanxi Province Science Foundation (201901D111020). The authors wish to thank the anonymous referees for their valuable suggestions.

REFERENCES

- Aiemsomboon, L.; Sintunavarat, W. Hyperstability results for generalized p-radical functional equations in nonArchimedean Banach spaces with the secret key in the clientserver environment. *Math. Eng. Sci. Aerospace (MESA)* 11(2)(2020), 467–479.
- [2] Aoki, T. On the stability of the linear transformation in Banach spaces. J. Math. Soc. Jpn. 2(1950), 64-66.
- [3] Bae, J.; Park, W. Approximate bi-homomorphisms and bi-derivations in C*-ternary algebras. Bull. Korean Math. Soc. 47(1)(2010) 195—209.
- [4] Bodaghi, A.; Moshtagh, H.; Mousivand, A. Characterization and stability of multi-Euler-Lagrange quadratic functional equations. J. Funct. Spaces 2022, Art. 3021457.

 \square

- [5] Brzde, K. J.; Ccodariu, L.; Cieplinski, K.; et al. Survey on recent Ulam stability results concerning derivations. J. Funct. Spaces 2016, Art. 1235103.
- [6] Că dariu, L.; Radu, V. Fixed points and the stability of Jensen's functional equation. JIPAM. J. Inequal. Pure Appl. Math. 4 (2003), no. 1, Article 4, 7 pp.
- [7] Cieplinski, K. On Ulam stability of a functional equation. Results Math. 75 (2020), no.151.
- [8] Cieplinski, K. Ulam stability of functional equations in 2-Banach spaces via the fixed point method. J. Fixed Point Theory Appl. 23(2021), no.33.
- [9] Dangskul, S. Stability of functional equations in a single variable via JS-metrics. J. Math. Anal. Appl. 499(2021), no.125065.
- [10] El-Fassi, I.; El-Hady, E.; Nikodem, K. On set-valued solutions of a generalized bi-quadratic functional equation. *Results Math.* 75(2020), no. 89.
- [11] Eshaghi Gordji, M. Nearly involutions on banach algebras. a fixed point approach. Fixed Point Theory 14(1)(2013), 117–124.
- [12] Fadli, B.; Zeglami, D.; Kabbaj, S. A variant of the quadratic functional equation on semigroups. *Proyecciones* 37(2018), 45–55.
- [13] Gajda, Z. On stability of additive mappings. Internat. J. Math. Math. Sci. 14(1991), 431-434.
- [14] Găvruta, P. A generalization of the Hyers-Ulam-Rassias stability of approximately additive mappings. J. Math. Anal. Appl. 184(1994), 431–436.
- [15] Hyers, D.H. On the stability of the linear functional equation. Proc. Nat. Acad. Sci. USA 27 (1941), 222–224.
- [16] Isac, G.; Rassias, T.M. Stability of ψ-additive mappings: Applications to nonlinear analysis. Int. J. Math. Math. Sci. 19(1996), 219–228.
- [17] Jung, S.M. Hyers-Ulam-Rassias stability of Jensen's equation and its application. Proc. Am. Math. Soc. 126(1998), 3137—3143.
- [18] Jung, S.M. On the Hyers-Ulam-Rassias stability of a quadratic functional equation. J. Math. Anal. Appl. 232(1999), 384—393.
- [19] Jung, S.M.; Popa, D.; Rassias, Th.M. On the stability of the linear functional equation in a single variable on complete metric groups. J. Glob. Optim. 59 (1)(2014), 165–171.
- [20] Kheawborisuk, A.; Paokanta, S.; Senasukh, J.; Park, C. Ulam stability of hom-ders in fuzzy Banach algebars. AIMS Math. 7(9)(2022), 16556—16568.
- [21] Lu, G.; Park, C. Hyers-Ulam stability of general Jensen-type mappings in Banach algebras. *Results Math.* 66(2014),87–98.
- [22] Maksa, G. A remark on symmetric biadditive function having nonnegative diagonalization. *Glasnik Mat. Se.r III.* 15(35)(1980), 279–282.
- [23] Maksa, G. On the trace of symmetric bi-derivations. C. R. Math. Rep. Acad. Sci. Canada. 9(1987), 303-307.
- [24] Movahednia, E.; Mehrannia, H. Fixed Point Method and Hyers-Ulam-Rassias Stability of a Radical Functional Equation in Various Spaces. *International Research Journal of Applied and Basic Sciences* ISSN 2251-838X/Vol, 5(8)(2013), 1067–1072.
- [25] Najati, A. Hyers-Ulam stability of an n-Apollonius type quadratic mapping. B. Belg. Math. Soc. Sim. 14(2007), 755—774.
- [26] Najati, A.; Park, C. Hyers-Ulam-Rassias stability of homomorphisms in quasi-Banach algebras associated to the pexiderized Cauchy functional equation. J. Math. Anal. Appl. 335(2007), 763–778.
- [27] Najati, A.; Park, C. The pexiderized Apollonius-Jensen type additive mapping and isomorphisms between C*-algebras. J. Differ. Equ. Appl. 14(2008), 459–479.
- [28] Noori, B.; Moghimi, M. B.; Khosravi, B.; Park, C. Stability of some functional equations on bounded domains. J. Math. Inequal. 14(2020), 455–472.
- [29] Park, C. Additive ρ-functional inequalities and equations. J. Math. Inequal. 9(2015), 17–26.
- [30] Park, C. Additive ρ-functional inequalities in non-Archimedean normed spaces. J. Math. Inequal. 9(2015), 397–407.
- [31] Park, C. An additive (α, β) -functional equation and linear mappings in Banach spaces. *J. Fixed Point Theory Appl.* **18(2016)**, 495–504.
- [32] Park, C. The stability of an additive (ρ_1, ρ_2) -functional inequality in Banach spaces. J. Math. Inequal. **13(2019)**, 95–104.
- [33] Park, C.; Najati, A.; Noori, B.; Moghimi, M.B. Additive and Frechet functional equations on restricted domains with some characterizations of inner product spaces. *AIMS Math.* 7(2021), 3379–3394.
- [34] Park, C.; Najati, A.; Moghimi, M.B.; Noori, B. Approximation of two general functional equations in 2–Banach spaces. J. Math. Inequal. 17(1)(2023), 153–162.
- [35] Park, C.; Paokanta, S.; Suparatulatorn, R. Ulam stability of bihomomorphisms and biderivations in Banach algebras. J. Fixed Point. Theory Appl. 22(2020), no. 27.
- [36] Park, C.; Rassias, M.T. Additive functional equations and partial multipliers in C*-algebras. RACSAM Rev. R. Acad. A. 113(3)(2019), 2261–2275.

- [37] Park, C.; Tamilvanan, K.; Balasubramanian, G.; Noori, B.; Najati, A. On a functional equation that has the quadraticmultiplicative property. *Open Math.* 18(2020), 837–845.
- [38] Páles, Z. Generalized stability of the Cauchy functional equation. Aequationes Math. 56(3)(1998), 222–232.
- [39] Paokanta, S.; Dehghanian, M.; Park, C.; Sayyari, Y. A system of additive functional equations in complex Banach algebras. Demonstr. *Mathematica* 56(2023), no.20220165.
- [40] Rassias, T.M. On the stability of the linear mapping in Banach spaces. Proc. Amer. Math. Soc. 1978, 297–300.
- [41] Radu, V. The fixed point alternative and the stability of functional equations. *Fixed Point Theory* **4(1)(2003)**, 91–96.
- [42] Sarfraz, M.; Li, Y. Minimum functional equation and some Pexider-type functional equation on any group. *AIMS Math.* 6(2021), 11305—11317.
- [43] Sayyari, Y.; Dehghanian, M.; Park, C. A system of biadditive functional equations in Banach algebras. Appl. Math. Sci. Eng. 31(1)(2023), no.2176851.
- [44] Sayyari, Y.; Dehghanian, M.; Park, C.; Lee, J. Stability of hyper homomorphisms and hyper derivations in complex Banach algebras. AIMS Math. 7(6)(2022), 10700–10710.
- [45] Suriyacharoen, W.; Sintunavarat,W. On additive ρ-functional equations arising from Cauchy-Jensen functional equations and their stability. *Appl. Math. Inform. Sci.* 11(2)(2022), 277–285.
- [46] Taghavi, A. On a functional equation for symmetric linear operators on C*- algebras. Bull. Iran. Math. Soc. 42(2016), 1169–1177.
- [47] Tamilvanan, K.; Balasubramanian, G.; Charles Sagayaraj, A. Finite dimensional even-quadratic functional equation and its Ulam-Hyers stability. AIP Conference Proceedings 2261(2020), no. 030002.
- [48] Tamilvanan, K.; Alqahtani, R.T.; Mohiuddine, S.A. Stability results of mixed type quadratic-additive functional equation in β –Banach modules by using fixed-point technique. *Mathematics* **10(2022)**, no.493.
- [49] Tareeghee, M. A.; Najati, A.; Noori, B.; Park, C. Asymptotic behavior of a generalized functional equation. *AIMS Math.* 7(4)(2022), 7001–7011.
- [50] Thanyacharoen A.; Sintunavarat, W. The new investigation of the stability of mixed type additive-quartic functional equations in non-Archimdean spaces. *Demonstr. Math.* 53(2020), 174—192.
- [51] Thanyacharoen A.; Sintunavarat, W. On new stability results for composite functional equations in $quasi \beta$ -normed spaces. *Demonstr. Math.* **54(2021)**, 68–84.
- [52] Thanyacharoen, A.; Sintunavarat, W. The stability of an additive-quartic functional equations in quasi-βnormed spaces with the fixed point alternative. *Thai J. Math.* **18(2)(2020)**, 577–592.
- [53] Ulam, S.M. A Collection of the Mathematical Problems. Interscience Publication, New York, 1960.
- [54] Wang, Z. Approximate mixed type quadratic-cubic functional equation. AIMS Math. 6(2021), 3546–3561.
- [55] Yood, Bertram Banach algebras of bounded functions. Duke Math. J. 16(1949), 151-163.

¹ School of Mathematical Sciences, Shanxi University, Taiyuan 030006, Shanxi, P.R. China

 2 Key Laboratory of Complex Systems and Data Science of Ministry of Education, Shanxi University, Taiyuan 030006, Shanxi, China

Email address: cbzhai@sxu.edu.cn.

¹ SCHOOL OF MATHEMATICAL SCIENCES, SHANXI UNIVERSITY, TAIYUAN 030006, SHANXI, P.R. CHINA *Email address*: 1261253746@qq.com